being viewed as a combination of all the
other functions.

The function to instrument entity can be used ddpsmhow we structure our
application. For instance, assume that part hefpplication is made of several other
parts, which we can call sub parts, the functiomstrument entity can be used to group
those parts to show the output part. The diagralewbshows an example, where it
shows part 1 of the application is made of seveaas.

function 11 | g
function 12 | g
unction 1
Group f4> FI
function 13 | g
function 14 >

Available Option

Available options for the function to instrumentigninclude:
* Function to instrument
* Function to system
* Etc.

The Function to Method Entity

Function to Method
. FM

Usage and Description

The function to method entity is similar to the étion to instrument entity; the only
difference is the function to method entity is us@dmethod rather than instrument. The
function to method entity is used to show the mettin@ resulting function is a part of.
Assume that multiple people are working to derivaethod. Each person derives a
specific function to produce the main method. & énd, the main method will be the
result of each method grouped together. After giogiall the methods together to
produce the main method, then the function to ntettam be attached to the main
method to show the method the main function isragfa Refer to the example section
for more information.

Available Option
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Available options for the function to method entitglude:
* Function to method entity
* Etc.

The Grouping Theorem Entity

o _/

Usage and Description

We can use curl braces to show the grouping ofrémes in a theory. We know that a
theory is a set of principles. According to oudarstanding of theory, since theorems in
a theory can have some meaning, it may be podsibies to show a group of theorem in
a theory. We can use the curl braces to showgtioalp. The grouping approach of
theorem requires a very good understanding of yhaod fundamental of theory. Refer
to the entity usage section to learn more aboutigiieg of curl braces to group theorems.
While we use the grouping theorem entity to grdwgotem from a theory, while
theorems cannot be identified by someone for sometse, they also cannot be grouped
by someone for someone else as well. The waydlodbit, the term grouping theorem

is viewed as personal. While we use the ¢eaup theoremsin a theory here, the term
group theorems from a theory is much, much better.

Available Option
Available options for the theorem grouping entitglude:
* Theorem grouping entity
* The theorem grouping entity’
» Group of theorem
* Group of principles
» Principle grouping entity
* The principle grouping entity
* Etc.

The Stability Entity
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Usage and Description

In the theory domain, it is very important to baldé. In the theory domain, it is very
important to maintain stability. Since theory gives ideas to do what we do, without
stability, we would not operate well. Since thegiyes us ideas to do what we do, we
want our ideas to be very stable relatively to whatdo.

We know that our intelligence works in an increnf@atrement basis. Relatively to our
intelligence, we want the ideas we get from theorlye very stable. The stability entity
enables us to operate inline with our basis. Bédlgiche stability entity is related to our
basis and our understanding of what we do. Weatsmsay that it is the fundamental of
our understanding of what we do or theory that pg@yato do what we do.

Usually, we use the stability line or the stabilégtity with graph to show our function
execution related to our basis of operation. Rathen using the graph with the stability
entity to show the performance of our function exem, we can also use tables to show
that. For instance, relatively to our basis, aurction executes normally. In this case,
we can show that in a graphical format the funceaecutes at the level of stability. In
this case, we can say that the function is execwbechally or at 100% stability, which is
usually atk or at thek line as shown below.

Function 1

time

time 1

Now, we can also use a table to show the samennaftton. For instance dime 1 or at
time equal tdime 1, our function is 100% stable. We can also saydh#hat time, our
function executes at 100% stability or normally.this case, we have that table.

Time of Execution Function Name Value of Stability

Time 1 Function 1 100%

Now, assume that we are not operating at our loagiar fundamental, our function

would be lagging. In this case, related to ourarsthnding, our function is executed
below the normal level. From what we have justi,sae can use number below 100% to
show that. For instance assume that within ouksjone execute a function first at 90%
stability, and the second time, at 80% stabilitg, ¥an use a table to show that or a graph.
From the same table above, we can add those values.

Timeof Execution | Function Name | Value of Stability |
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Timel Function 1 100%

Time 2 Function 2 90%

Time 3 Function 3 80%

Both of the graphs below are the same

Function 1
kH————— - ——— - — - — — — = = = = = -
Function 2
r Function 3
/i
time 1 time 2 time 3 me

The stability line tells us if the function we exie is inline with our basis. It is very
important to be stable in the theory domain. Re&dehe entity usage section for more
information about using the stability line. Keepnind that the basis of our operation is
considered to be the ceiling of our operationottmer words, the basis of our operation is
considered to be where our functions point to. dAte also say that the basis of our
operation is considered to be where we point to.

Available Option
Available options for the stability entity include:
* The stability entity
* The stability line
* The stability line entity
» Our basis of operation
* Our fundamental of operation
* Our fundamental
* Our basis
» Basis of operation
* Function stability
» Application stability
* Project stability
» Stability of what we do
* Project basis
* Application basis
» Basis of what we do
* Function basis
» Basis of what we do
» Task basis
* Application basis
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 Etc.

The Destination Entity

0

Usage and Description

It is very important in the theory domain to haveestination. Given that our
intelligence works in an increment/decrement bagescan only approach one
destination at a time. Without a destination, wailal not be able to operate property.
Having no destination is like having no future. vit@ no direction is like having no
guidance. It looks like we are going nowhere wivendon’t have a destination. Since
our intelligence can only decrement and incremeithout proper destination, we can
only decrement or think negatively.

In the theory domain, it is very important to havdirection or a positive direction. We
use the house to define our destination, whichadundamental of our operation or the
area we operate. Usually the house tells us wiiereperate. We always operate in the
house. We should never leave our area of operatimually, the house is the entity we
are looking at when we are operating. Another teapok at it, we think about that
house when we are doing something; we usually tabdut it to do what we do. It gives
us ideas or direction. Once we leave it, we ngéorhave a destination in mind.

The similarity between the house and the stalihigy is that we operate at the house
where the functions we execute are inline withitbese. We use the term inline to
represent the function we execute at the houséhenlouse itself to represent the area or
the region of our operation. Itis very importamunderstand the house, which is the
destination entity. Any misunderstanding and ntésjoretation will lead us to problem.
Let's say it again; the house is our area of opmrat\We look at the house to do what we
do. We think about it, when we do what we dothie event that we are not at the house,
we always look at it, and pursuing the directiogéd to it. Let’s repeat the similarity
between the house entity and the stability entille operate at the house, where the
functions we execute are inline with the houseothrer words, we operate at the house
where the functions we execute executing accoritirige house. Those functions
execute inline with the house; inline is referrtoghe stability entity. The stability line
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tells us whether or not our functions execute atiogrto the house or inline with the
house.

We use the house entity to define the basis obperation. Basically the basis of our
application is related to our operating principidich includes the principle that we
apply to execute or derive the function that wevaoeking on. In this case, we can
incorporate the basis of our application with rog@ph, distance to monitor the
performance of our function related to our underditag of the principle. We can also
use time and the understanding of the principlelt In this case, all those entities are
related to our understanding and the applying tireiple. We use the house basis to
provide us direction of our understanding of thagple related to our application. We
can incorporate the house with distanced to sholousfar we are from our goal.

It is very important to have a destination in thedry domain. Given that we are a
theory dependable system and the application afyhenable us to do what we do, we
must have a destination related to what we do la@dry that we apply. Since our
intelligence works in an increment/decrement bagtsmust have a destination related to
our understanding of the principle that we appIfie house entity provides us with a
destination related to our understanding of whatlwe As a theory dependable system,
without a destination our theory dependable charetic would not be understood by us.
Without a destination, we don’t think as a theoependable system. Without a
destination, we would not think property about wivatdo. As a self controllable
system, we must have a destination.

Available Option
Available options for the house entity include:
* The house entity
» The destination entity
* Our destination entity
* Application destination
» Project destination
» Destination of what we do
* Our direction
* Our basis
e Our home
* Our fundamental
* Our house
* Etc.

The Direction Entity
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Usage and Description

The road entity is like a path that we take tolthase. We use the road entity to go to
the house. Assume that we are not operating dtdhse and we want to go to the house,
since it is our home, we use that path to go th&freat road is the only route that can take
us to the house. There is no other road to gbadbuse. The road entity tells us where
to go to the house.

Since we know it is very important to have a dedton in the theory domain, it is also
very important to follow the right direction in thieeory domain. Given that our
intelligence works in an increment/decrement bagéscan only follow one direction.
Given that our intelligence works in an incremeetigément basis, we can only have one
direction in mind to do what we do. The road gmpitovides us direction to the house,
which is basically the direction to our principlefsoperation. By following that road, we
always follow the principles that enable us to dmtwe do. Another way to look at it,
assume that we are not operating at the housenasiat our functions are not executed
normally at 100% stability. Now assume that welagl®w normal for instance at 50%.
That means we are not at the house. We are im#ee we need to follow the road to the
house. Since we cannot fly to the house, sincénbeltigence works only in an
increment/decrement basis, we need to follow tlle p&rementally or in a timely
manner until wet get to the house. In other wondsneed to learn and apply the theory
that enables our function to execute normally umélget to normal or stability. At the
time we are in the road and our functions do netate normally, we cannot jump to
normal or 100% stability. It is not possible.islivery important to understand what the
road is. That pathway is very important for userables us to follow our principles of
operation.

Since our intelligence works in an increment/de@etiasis, we can only be in one
direction at a time. Given that theory can onlyabelied individually by a person and
that person is a single person, only one direateombe followed. We cannot have two
directions at a time; it is not possible. In othards, since a person cannot be
duplicated, only one direction can be followedislhot possible to follow two directions
or be in two directions at a time. This is the sams saying that, we cannot be in two
locations at a time.

The road entity provides us the direction of whatde. Given that we cannot
accomplish everything we are doing instantly; gitteat our intelligence does not allow
us to do everything instantly in terms of learnargl applying the principle, however by
having a direction, we can incrementally do evanglwe need to do in a timely manner.
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Given that our intelligence does not allow us trteand apply the principle instantly,
however by having a direction we can incrementiadyn and apply the principle in a
timely manner. As a theory dependable system, us hmave a direction. As a self
controllable system, we must have a direction. h@lit a direction, we don’t act as self
controllable. Without a direction, we don’t thiak self controllable.

We can use arrow with the road entity to show whezeare heading. For instance, we
can use the up arrow to show that we are heading tige house, while we can use the
down arrow to show that we are heading to the dpgpdgection.

Available Option
Available options for the road entity include:
* The road entity
» The direction entity
* Our direction
* Application direction
* Project direction
» Direction of what we do
*  Our pathway
» Our route to our house
* Route to our basis
* Route to our fundamental
* Etc.

The Road Mark Entity

Usage and Description

We use the road mark or distance mark entity tovdnmw far we are from the house.
Since we are operating at the house and the heuse area of operation, if we are not at
the house, we want to know how far we are fromMe use the road mark to show how
far we are from the house. It is very importantitalerstand the road mark and the
distance mark. Since the house is our basis abtipa, we always think about it and
look at it. In the event that we are not operatihgur basis, we always want to know
how far we are from it. While we are pursuing path on the road, by setting a mark at
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a specific point, as we continue, we can approxenoat distance. For instance while we
are in the path, we set a markt a point, then we continue and set another imaitk
another point. Now we can approximate the distamcedetermine if we are farther or
closer to the house. It is very important to ustierd the distance marks and their
usefulness.

Since our intelligence works in an increment/de@etnibasis, we always need something
to think about when we do things. In the event i disregard our fundamental or our
basis of operation, we simply disregard the holdew, we simply move away from the
house. Once we recognize we are not at the hagseeed to move or walk to the
direction of the house. Since we cannot fly toltbase, we need to walk incrementally
in order to get there.

The way to look at it, if we are not operating mrmal mode, the functions that we
execute are not executing 100% at our basis. id$rcdse, we need to work to enable our
functions to execute at normal level. Now assumaéwe are at 50% normal, which is
about half way from the house, we can set a pharet then continue. Now we do
everything possible to learn the principle of opieraand apply it property. Later we can
set another point which is related to functiong @ execute at that time. We can then
determine whether those functions approaching nidieweal or execute better than
previously. Assume that we execute at 48% of thesh, which mean are closer to the
house. In this case we are making progress. Bfiemieans we are at a closer distance
to the house.

Available Option
Available options for the road marks entity include
* The road mark entity
» The distance mark entity
* Road mark
* Point mark
* Mark name
» Distance name

* Points
+ Distances
 Etc.

The Distance Entity

< distance > < d >

Usage and Description
The distance entity is the difference between twardrmarks. Refer to the usage of the
road mark entity for more information.

Available Option
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Available options for the distance entity include:
* The distance mark
» The distance entity
» Distance name

e Dord
» Distance mark
 Etc.
The Theory Scale Entity
o oo | | | | | | | | | | | & oo
[ [ [ [ [ [ [ [ [ [ [ [
-5 4 3 2 -1 1 2 3 4 5
oo L L e
-5 4 3 =2 1 1 2 3 4 5

Usage and Description

Since a theory is an infinite set of principles &émere is no limit in term of our learning
ability. We can use the theory scale to show aoction execution related to our
understanding. In other words, we use the thecalego show our function related to
our application of theory.

Usually, the theory scale uses only positive numibetr since we are a theory dependable
system and when we disregard a theory we simplyat@é the philosophy mode, so it
makes sense to present the theory scale with negatimbers as well. In this case, the
negative part is used for negative philosophiesegiative ideas, where the positive part
is used for theory.

We use the theory scale chart to show the leveliolinderstanding related to

application of theory. In other words, we usechart to show the level of our
understanding of the function that we execute. cafealso say that we use it to show the
performance of our function related to our underditag. For instance, assume that we
are operating below stability. We realize that smdare in the process of learning and
applying theory properly. Now, at the time we weperating below stability, we did not
have a good understanding of what we were doimy.ttfat reason, our function did not
execute property. At that time, we can show ouacfion at a level on the scale. For
instance, assume that at that time we were at 2aslshown below. Both of the charts
below are the same.

o o | | | | \ﬁmcnwonj | | | | |® 0

! | | ! ! ! ! | ! | ! !
-5 -4 -3 -2 -1 1 2 3 4 5

Now we are making progress in learning and applsinegtheory that enable our function
to execute. As we are making progress in learamdyapplying the theory, our function
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also executes better. We can adjust the charteatooshow how our function moves
with our level of understanding. In this case,shew the moving of the function related
to our understanding. Now, our function executiégeoebecause we have a better
understanding of what we do. We show that on taetdelow; both of them are the

same.

Sfunction 1

We can approach the theory scale like shown byathie below. Since the theory scale
shows the level of our theory application, we cae this table to show the result.

Theory Apply Theory Result or Output Function on Scale
Green Green Green Positive
Green Red Red Negative

Red Red Red Negative
T Application of T Resulted Function On Scale
Green Green Green Positive
Green Red Red Negative
Red Red Red Negative

Available Option
Available options for the theory scale entity ird#u
* The theory scale entity
* Our level of understanding
* The scale of our understanding
* Our level of application of theory
* Our level of understanding of applying theory
* Level of theory application
» Level of function execution
* The level of what we do
* Level of understanding of what we do
* Theory scale chart
» Theory scale graph
» Application scale
* Project scale
* Function scale
* Function on theory scale
* Etc.
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The Downhill Entity

Usage and Description

We use the downhill graph, which is basically tlevdhill process to evaluate the
performance of our function. The downhill proceseelated to our function execution
based on us applying theory. The downhill prosssvs our function execution related
from our understanding. Since our intelligenceksan an increment/decrement basis
and our intelligence needs ideas from theory tdkwath in order for us to do what we
do, any negative previous idea will lead us to rwa do things negatively. In this case,
the normality of our function execution relateditoe always lags the previous one.
This process is known as the downhill in the theswgnain. We can represent the
process which is the downhill entity in a graphicaimat

Basically, the downhill process enables us to shomfunction related to time. We can
also say that the downhill process enable us twshw average function execution
related to time. Here is the way to look at isuase that we are operating in the
philosophy mode. The way to look at it, we stard@ with some principles, but we did
not follow them. In this case, we drop the pritegoand rely on our own philosophies.
Since the application of negative philosophiedgs axpandable negatively, the previous
negatives lead us to more negatives. In this sese&an show our function execution
related to time in a tabulated form and a grapHmah as shown below. Both of the
tables and the graphs are the same. They shogethi@ing of the function from normal
execution related to our understanding of the $héwat enables us to execute the
function.

Time Function Per cent of Nor mal
timel function 1 100

time 2 function 1 95

time 3 function 1 90

time4 function 1 85

time5 function 1 80
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time 6 function 1 75

Function 1

Function 1

Function 1
Function 1

Function 1 )
Function 1

time

time 1 time 2 time 3 time 4 time b5 time 6

The way to look at it, since we get the same idieam previous applications to execute
the current function and the next function, we curg to operate abnormally as time
goes. As shown above, we have used both a tatlla graph to show that. The graph
below is the same as the one above. All that wesgathe downhill entity with graphical
axis to represent the process.

Function 1

time

It is very important to understand the downhillggss. Our intelligence works in an
increment/decrement process and we need ideasvwbaowve do. Now when we
disregard our operating principles, we simply diarel our basis of operation. In this
case, we simply use negative philosophies as aenatipg basis. In other words, when
we disregard our operating principles, we simpbreljard the logic that enables us to
execute function normally. In this case, we singpgrate negatively. This is basically
what the downhill process is.

Available Option
Available options for the downbhill entity include:

* The downhill entity
* The downhill process
» The downhill graph
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* The downhill chart

* Downhill path

» Application declining
* Project declining

* Project path

* Going down

* Downhill
» Declining
* Etc.

The Uphill Entity

Usage and Description

The uphill entity is the process of executing aurdtions toward stability. Assume that
we did not start to operate at normal level. Imeotwords, at the time we start applying
theory to execute our function; we did not richmal level. At the time we start execute
our function, we did not rich our stability levaNow, we need to learn and apply theory
to enable to execute the function normally. Simgeintelligence works in an
increment/decrement basis, we cannot jump to #tabiktantly. However, related to
time, as we keep learning and applying the themirgpme point of time we can reach
stability. The uphill process enables us to shHosvdrogress of our function related to
our understanding of applying theory. In otheragty using the uphill process, we can
show the progress of our function execution relébetime.

To better understand the uphill process, let’s takke this. Assume that at the time we
realize that we are not operating properly; oucfiom was executed about 60% of
normal. Now that we realize that, we have takénedessary steps by learning the
principle and apply it property in order to execate function property. As shown by
the table below, we use some percent values ofadorshow performance of our
function. Both of the table below and the grapfesthe same.

It is very important to understand both the uphiticess and the downhill process. We
can use both the uphill and the downhill processepproximate a lot of functions in
life. We can also use them to approximate thegperdince of entities that make up a
function and the performance of many functions thake up a main function. We use
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the downhill process to show the declining of ooplecation performance or our project
performance, while we use the uphill process tastin@ increase of our application
performance or the increase of our project perfoicaa

Time Function Per cent of Normal

timel function 1 60

time 2 function 1 70

time3 function 1 80

time4 function 1 90

time5 function 1 100

time 6 function 1 100

Function 1 Function 1
Kk-Hl---- - - - -——- - — — — — —— — — 0 — — — -
Function 1
Function 1 ?
Function 1
Function 1

time

time 1  time 2 time 3 time4 time5 timeé6

Function 1

time

Available Option
Available options for the uphill entity include:
* The uphill entity
» Uphill graph
» Uphill chart
* The uphill process
* Increase of application performance
* Increase of project performance
* Uphill
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* Climbing
* Going up
* Etc.

The Time Mark Entity

Usage and Description

Using the time mark entity, we can set a time gpecific point during our function
execution to evaluate the performance of our famctiAssume that we execute a
function now, and then we can record the time. h\lie execute the same function
later, we can also record the time, and then etalii@ performance of both executions.
For instance, we can determine if we are makingm@ss now, or we make more
progress later. The time marks enable us to remordunction execution related to time
and determine the performance.

This is the way to look at it, assume that we areguphill. We start at 50% normal
and at the same time, we exedutaction 1 and we record that timéme 1. Later again,
we execute the same function, but at another tiN@w, we can use the difference of
time to determine our progress. For instancdgfdecond time we execute the same
function, we get it to 60% normal, we can recor time and determine how long it
takes us to get that 10%. We can use change efwtith the time mark to evaluate the
performance of our function. The graphs below shavexample. Both of them are the
same.
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Progress time is time

l 2 minus time 1
I I
I I

I | Function 1 Function 1
k__———r———'—_________,___._____
: : Function 1
I | Function 1 ?
| | .
| Function 1
Funation 1

time

time 1 time 2 time 3 time 4 time5 time6

Let’s review the difference between the uphill ¢fzard the downhill chart again. We
use the uphill chart to show the performance afrection that we add to life. In this
case, we show the execution of the function imeely basis. In other words, every time
we execute the function, we show that on the grafgted to our basis of operation. In
the other hand, we use the downhill chart to sHedeclining of a function that we add
to life.

Available Option

Available options for the time mark entity include:
* The time mark entity
* Time mark

 Time line

* Time line entity
e Time

e« Date

 Etc.

The Progress Time Entity

) time > ¢ At ) IAt“ )

Usage and Description

The progress time entity is simply the differeneénween the two time marks. The
progress time entity enables us to determine how ibtakes us to make progress in our
application. Refer to the time mark entity for manformation. Usually, we use the
term progress time during the uphill process.

Available Option
Available options for the progress time entity uuis:
* The progress time entity
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» Change of function related to application of prptes
» The difference time

» Uphill time

* Climbing time
« Time

* Deltat

» Delta t uphill

» Deltatime
» Delta time uphill
* Etc.

The Declining Time Entity

. At
'tlme. IAtI I dI

Usage and Description

Usually we use the declining time entity in the ddnll progress. Since in the downhill
process we continue to execute our functions neglgtiwe can approximate the time it
take to drop farther from normal. For instanceuase that we are operating in the
downhill mode, and then we are at 60% off nornmidbw, we can set a time mark at that
point, and then continue farther. While we congigown, we rich 70% off normal, we
then set another time mark and measure the titakatus from 60% to 70%. The graph
below shows the usage of the declining time eintityhe downhill process. Both of the
graphs below are the same.

Decline time is time 6

minus time 5
|

. —p

Function 1 [ |
k-t — — —— — = — — -

Function 1 : I

Function 1 [ :

Function 1 } :

Funttion 1 I

Function 1

time

time 1 time 2 time 3 time 4 time5 time6

Available Option
Available options for the declining time entity inde:
* The declining time entity
* Change of function related to misapplication ofoitye
* Declining time
* Time lost entity
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* Downhill time
e Delta t downhill

« Deltat

« Time

* Down time
 Etc.

The Lost Line Entity

Usage and Description

We use the lost line entity to determine our loshf one point to another point. Assume
that we are operating in the downhill mode, wet finsecute our function and we execute
it at 90% of normal. We can put a line at thatknadow, we continue down and we
execute the function again at another time. Simeare in the downhill process, we can
put another line at that point. The differencenssin the two lines is our lost. The graph
below shows exactly what we have just said. Bilog at the downhill graph below, we
can see the total lost from time 2 to time 3 isdtierence between the two loses. We
can also use the lost line entity with the time krtardetermine the time it takes for
specific lost.

Total lost is the difference

between Lost 1 and Lost 2
Function 1
k-l------——-—-—- - —\—+———— —
Function 1
————————————————————————————————————————————— Lost 1
—
_______________________________________ T _____ Lost2
Fundtion 1 Function 1
Function 1 .
Function 1
- - - - - - time
time 1 time 2 time 3 time 4 timeb5 time 6

Available Option
Available options for the lost entity include:
* The lost entity
* Lostline
* Lost mark
* The lost line entity
» Lost of function declining
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* Lost of normal

e Lost of fundamental
* Lost of stability

* Lost of basis
 Etc.

The Gain Line Entity

Usage and Description

The gain entity is used to show our gain from dpepbint of a function execution to
another point of a function execution. Usuallywse the gain line during the uphill
process to approximate the time it takes us to gagur normal. For instance, since we
are not operating are our basis, incrementallyeifoentinue applying the theory to enable
the execution of our function, we can make progtessrd normal execution. Assume
that we start at 50% of normal; we can set a gamadt that point. Then the next time we
execute the function, we can set another lineatghint and compute the gain from the
two points. The graph below shows what we havesasl. By looking at the graph
below we can see our gain between time 1 and tim&@ can also use time mark with
the gain entity to determine the time it takesdjpecific gain.

The total gain is the difference
between Gain 1 and Gain 2

Function 1 Function 1

k- —-" - -— — — — — —— — — 00— — — — —
Function 1
Function 1 ?
Function 1
- - - ————@————— 4 ———— | ——_—_—_ el ———— — — . Gain 2
o
= Gain 1
. Fﬁnrﬁo_n_] ““““““““““““““““““““ ain
time

time 1 time 2 time 3 time 4 time5 time 6

Available Option
Available options for the gain line include:
* The gain entity
* The gain line
* Gain
* Gain of our basis
* Gain of our fundamental

www.speaklogic.org Copyright © 2011The Speak Logic Project 65




» Gain of stability
» Function gain
* Gain mark

* Etc.
The Lost Entity

Usage and Description
Refer to the lost line entity for more informatiabout using the lost entity. More
explanation has been provided in the usage andipsc of the lost line entity.

Available Option
Refer to the lost line entity for more option oe tbst entity. In addition to that, we can
add the following.

e Lost

* 9% Lost

e L

e 9L

» Delta lost
e Delta “L”
- AL
 Etc.

The Gain Entity

uinoy
umwn %
D
D%

Usage and Description
Refer to the gain line entity to learn more abaihg the gain entity. More information
has been provided about using the gain entity badisage of the gain line entity.

Available Option
Refer to the gain line entity for more option oe tain entity. In addition to that, we can
add the following.

* Gain

* %Gain

www.speaklogic.org Copyright © 2011The Speak Logic Project 66




» Delta gain

e G

e %G

» Delta “G”
- AG
 Etc.

The Stability Point Entity
®

Usage and Description

We can use the stability point entity with graphees to show the graphical
representation of our function. Refer to the dolaimd the uphill entities for more
information about using the stability point. Rathi®an using the stability point entity as
shown above, if we want to, we can use a pointaalite to show our function execution
at specific time. The stability point and the disbline can be used for both the
functional and the physical system stability.

Available Option
Available options for the stability point entitydiude:
» Stability point entity
* Personal stability point
» Stability
» Stability amount
» Percent of stability
» Function execution point
* Etc.

The Generation Time Entity

Q Generation Time
4> <
QO Time Timef Timea
4> 4>
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Usage and Description

We can use the generation time entity with graphshbw the time of a generation. For
instance, the generation time entity can be usédtive downhill graph to specify a time
for a generation. Th& mea can be used for generation time after, whileef can be

used to show generation time before.

Available Option
Available options for the generation entity include

e Qtime

- Q

e Delta“T"f
« Delta“T"a
e Time “f"

e Time “a”

* Generation Time
* Generation after

» Generation before
 Etc.

The Delta Philosophy Entity

Delta Philsophy
Usage and Description

We use the delta philosophy entity to show the sstbpnd inherited philosophies. For
instance we can use the delta philosophy entishtw the effect of philosophies on a
system. In this case the delta philosophy inclidesherited or adopted philosophies
by that system.

Available Option
Available options for the delta philosophy include:
» Delta philosophy
» Effect of philosophy
» Change of philosophy
» Change related to effect of philosophy
* Etc.

The Philosophy I nheritance Entity
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other Generation 1°" Generation
time time
< > < P>

v <

/\ /\ % Grow % Grow
| ( (

Usage and Description

We can use the philosophy inheritance entity tédoauiphilosophy inheritance chart to
show the inherited philosophies from generatiogeperation. In that chart, we can show
a lot of details for instance, size of delta plolplsy, percent grow, time, date, philosophy
pass through, philosophy inherited, person witlkeigchumber of people per generation,
philosophy with index etc. If we want to, we cdsoause the following entities to build a
philosophy inheritance chart.

4 Inherited

The inherited label shows how philosophies areritdgtfrom one generation to other
generations. In this case, it shows the direaticime philosophies from past times to
present times.

4 Pass Through

The pass through arrow shows how philosophiesthasgsgh from one generation to
other generation. This arrow is similar to theanted arrow; however we can use it to
show the first inherited philosophy. For instant#)e negative philosophy was
generated atme 1 and passed to another generatiotinad 2, we can use the pass
through arrow to show that. In this case, the &rgsow in the philosophy inheritance
chart will be the pass through arrow. The pasagharrow shows the first inherited
philosophies from one generation to another gelmerat-or instance in our case, it
shows the first inherited philosophy fraime 1 totime 2. This is basically philosophy
inherited atime 2 fromtime 1.
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Below is simply an empty chart for one generatitmthis case, we can put more data to
it in order to build a philosophy inheritance chart

Generation

time

>

( (
Date 1 Date 2

Below is an empty chart again. In this case itlsamsed for successive generation. For

example, assume we are building a philosophy itdrese chart, we can use the empty
chart above, then use that one for as many geoerasi we want.

Generation

time

>

'
Date 3

In addition to what we have said above, we carthiséime chart with the philosophy
inheritance entity to show more information abohitgsophy inheritance. We can also
use table to provide more information as well.

The philosophy inheritance chart can also be Iuilhe following form. In this case, we
use arrows with the philosophies to show more mtdron about them and also the
systems that adopt them; both of the diagrams balewhe same. From the diagram

below, I:’1 is denoted aBerson 1, while F’2 is denoted aPerson 2.
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Available Option
Available options for the philosophy inheritancdigrinclude:
» The philosophy inheritance entity
* Philosophy inheritance
* Philosophy inheritance chart
» Adopted philosophy
* Philosophy from generation to generation
» Etc.

The Given Reference Entity

2%

&) () &
OO R

Usage and Description

The Given Reference Entity can be used to showitren reference. The given
reference entity is a set that includes all prilegghat make up our utilization theory.
The items that include in that set are shown irgilien reference entity as there are. By
understanding that, we can see that items cannaddéed and removed from that set.
The set is made of 10 elements. They cannot hecegldand other elements cannot be

@@
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added as well. The 2 diagrams above show the gaference. Both of them are the
same. We can use either one of them to show tlem geference. From the diagram
above, we use abbreviations to denote the thefvaesthe reference entity. Rather than
using abbreviations, the exact name of the thecaesalso be used instead.

Available Option
Available options for the given reference entitylude

- R

* The given reference
» Our given reference
* A given reference

e Our reference

» Reference

» Areference

» The reference
 Etc.

Label Entity

We can use labels to describe or provide morenmétion to an entity or action. For
instance, we can use the give rise label to shthe@em comes from a theory. Here are
the lists of many labels. They can be rotatedippéd to any direction we want.

The GiveRiseLabd

We use the give rise label to show an entity tihaggrise to another entity. We can also
use it to show an entity that comes from anothétyenDepends what we want to show
or the direction of the entity, we can also chatigetext on the label. For instance, we
can use the give rise label to show that an egiitgs rise to another entity. In the other
hand, we can also change the texdaéiave from to show that the other entity comes from
the entity that gives rise to it.

A

N

WOIJ SOALIdD

Gives rise

Not give rise

The Dependency L abel

We use the dependency label to show an entityddqands on another entity. We can
also negate it to show an entity that does notmigpa another entity. This label can be
rotated or flipped to reflect or desired direction.

Depends > 4 Depends
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4 \ Not Depend Not Depend / >
\ 7/

TheEnable Labe

We use the enable label to show an entity thatleaamother entity. We can also
change the text on the label to show an entitydisgtble another entity or an entity that
does not enable another entity. Below is theolishe enable label.

Enables > 4 Enables
Disables > 4 Disables
4 \ Not Enable Not Enable / >
\ /

ThelInteraction Label

The interaction label is used to show an entity th@racts with another entity. The text
of that label can be changed to reflect what wedaneg. For instance we can negate the
interact word to show an entity that does not atewith another entity. The label can
be rotated or flipped to reflect our desired diatt

4 Interact Interact '
4 \_Not Interact Not Interact / >
\ /

T~ T

/T\/\

TheInheritance L abel

We use the inheritance label to show an entityititagrits another entity. For instance,
we can use the inherit label to show philosopheiitance. In this case we use to show
philosophies that come from other people at spetifie or date. The label can be
rotated or flipped to reflect our direction.

4 Inherit Inherit >
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4 \ Not Inherit Inherit >
\

The Allocation L abel

The allocation label is used to show theorem thatlocated in a theory. For instance in
a theory, we can use the allocation label to inditiae theorem that we select to apply.
Refer the entity usage section to learn more atheuallocate label. Again, this label can
be flipped or rotated to reflect our direction. d&n also change the text on the label to
reflect anything we want to say. For instance ae change thallocate word toselect,

set, flag, flag to apply, select to apply, set to apply. We can also negate it to reflect a
theorem that is not allocated in a theory.

allocate > 4 allocate
4 \ Not Allocate Not Allocate 4 >
\ /

The Push to Apply L abel

The push to apply label is the same as the alldab#&s. It shows that in a theory, we
push a theorem to apply. This is the same asgalyat in a theory, we select specific
theorem to apply. We use this label when a theocpnnected to the apply entity. In
this case, we can select specific theorem to ppgb the apply entity so we can apply it
to execute a function. The word in this label barchanged similarly to the allocate
label to reflect what we wan to say. We can digatfor rotate it to reflect our desired
position as well.

push up
push up

The Symbol I dentification L abel

We can use the symbol identification label to smoeare information about a symbol.
For instance we can use the symbol identificatatrel with equation to show more
information about the symbols use in that equatidgain we can flip it or rotate it to
reflect our desired direction.

Label * * Label

The Direction Label

We can use the direction label to show where wénaagling. For instance, assume that
we are in the downhill process; we can use the dawew to show that we are heading
the opposite direction of the house. In this cagecan use it with the road entity to
show that. If we are heading to the directionhef house, we can use the up arrow label
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with the road entity to show that. We can alsothsedirection label with both the uphill
graph and the downhill graph to show where we asslimg.

While we use the direction label to show where veeheeading, in terms of our direction
and our destination, we can also use the diretaioels shown below to show entities
that go up and down. For instance, if an entityses another entity to go down while
that entity is going up, we can use the label balmghow that.

up down

The Association L abel

The association label can be used to show an ¢hstyassociates with another entity.
Given that a system must associate with a theooyder for the theory to work on that
system. Given that a system must associate wtkay in order for that theory to be
used for that system, we can use the associatieh far example to show a theory that
associates with a system or a system that asseeidtea theory. The label can be
rotated to our desired direction.

4 Associate Associate >

4 \ Not Associate Not Associate/ >
\ /

The Expand L abel

We can use the expand label to show the expans§iam entity. For instance, we can use
the expand label to show how a theory expands topteutheorems. The label can be
rotated to reflect our desired position. The taxthe label can also be changed to text
that we would like to use.
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Continuity
We can use continuity whenever it is necessarposvghe continuity of an entity. For

instance, we can use the continuity entity showoaof people. We can also use
continuity to show the continuity of theorems ithaory. Whenever and wherever it is
possible, the continuity entity can be used. Asashbelow, the continuity can be
formatted however we want to reflect what we wasig. For instance to show a group
of people that apply theory to derive or executienation, we can format the continuity
in an arc form to show the continuity of the peapiesystem applying theory.

® ®
° ° °
® e o o °® °®
[ J
The Grouping Entity
Group +

Usage and Description
We can use the grouping entity to group entitiésr instance, we can use it to group
functions and other entities. Refer to the entggge section for more information about

using the grouping entity.

Available Option
Available options for the grouping entity include:

* Group
» Addition
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 Etc.

The Problem Entity

Negative
Function

Apply

Philosophy
Usage and Description

While it may not be necessary, however it we wantve can use the problem entity
listed above to show the development of a probkemm fa negative philosophy. Since
the applications of negative philosophies are @ois, we can use the circle with the
arrow to show a problem that is development fromegative philosophy. In this case,
we can label the arrow; identify the problem, amel philosophy. For instance if
negative philosophy one gives rise to problem tme we can show the following in the
problem entitynegative philosophy one, givesrise, problemone. The operation to the
left is the same as the one to the right. It singpdites that a faulty function is a result of
application of negative philosophies.

Problem

@

Negative
Philosophy

Since negative philosophies are problems themsdlvegroblem entity with the give
rise arrow, the negative philosophy name, and thblem name can also be replaced by
the name of the problem instead. In this casesimely use a circle and put the name of
the problem in it to show that problem. We cam aise an ellipse as well. The diagram
below shows what we have just said.

Problem Problem
Problem Name Problem Name

Since a group of problem is a problem, we can a$®oa circle to show a group of
problem. In this case we can put each problem namaeircle inside another circle. We
can also do it for ellipses as well. This is theeyvo look at it; we use the problem entity
which is basically the negative philosophy to steoproblem. Since many problems are
also one problem, we can use the same entity @ she problem. In this case, we
simply put many entities inside one entity. Inetlvords, we use the problem entity to
show many problems. The diagram below shows wikdhave just said.
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Problem

Problem
Problem

Problem
Problem
Problem Problem

Problem

If we want to, inside the problem entity, we casoalise the corresponding problem name
to show each individual problem. We use the diagbalow to show that. Rather using
the name problem, we simple use the corresponditgggmm name. We can also use the
word problem follows by the specific problem name.

Problem
One
Problem Problem
Two Six
@
Four
Problem Pl
Three -
Problem Problem
Five Ete.

Problem Name

Problem 10
Problem 9

Problem 1 el 1 Problem 13
Problem 8

Problem 2 I 1) Problem 15
Problem 7 Problem 16

Problem 3 roblem

Problem 6 Problem Etc.

Problem 4 Problem 5

Problem Name

If we want to, we can also provide a table withadgsion for the problem. In the table
below, we provide the name of the problem and #szdption of the problem.

Problem Name

Problem Description

Problem one

Description one

Problem two

Description two

Problem three

Description three

Problem four

Description four

Problem etc.

Description etc.

We know that problems happen as the result of hegphilosophies. We also know that
problems expand and they also multiply. In thisegcave can use what we know about
problems to show more information about our prolslee expand the table above by
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showing more information in the table below. Ie table below, we show the problem

names, the problem descriptions, and the locatlmsoccur.

Problem Name

Problem Description

Problem L ocation

Problem 1 Description 1 Location 1
Problem 2 Description 2 Location 2
Problem 3 Description 3 Location 1
Problem 4 Description 4 Location 3
Problem etc. Description etc. Location etc.

We know that problems are the result of negativibpbphies. In order for a problem to
occur, a faulty function must be executed. In otherds, a problem must have an origin
and the origin is the application of negative phiphy by a person. In this case, we can
call the origin of the problem the basis of theljpeon. We use the word basis to show
the origin of the problem by a faulty function whiis the result of negative philosophy
from a person. In this case, we can say thatnbielgm is generated by that philosophy.
That problem is the initial problem by that philpsg. Since philosophies are problems
themselves, we can say that philosophy is thealmtioblem. Since the solution of a
problem is the application of our parent principéjch is the opposite of negative
philosophies that develop it, we can also sayrikegative philosophy is the initial
problem. In this case, we can use that informatoshow more information about the
problem. The table below is an extension of tidetabove. It shows more information
about the problems.

Problem Name | Problem Description | Problem L ocation Initiated By
Problem 1 Description 1 Location 1 Philosophy 1
Problem 2 Description 2 Location 2 Philosophy 1
Problem 3 Description 3 Location 1 Philosophy 1
Problem 4 Description 4 Location 3 Philosophy 1
Problem 5 Description 5 Location 4 Philosophy 1

From what we know about problems, we know that jgmols multiply, but they also
expand. In other words, a problem can expanddaterother problems. In this case, we
have an initial problem, but we also have othebj@m that are developed from
problems that caused by the initial problem. Fthentable above, the initial problem
was identified as philosophy 1. Now, to show tkpamsion of problems, let’s provide
more information from the same table above by edjpanit to the table below. In this
case, let’s disregard the location of the problsimge it is not of our concern for now.

Problem Name | Problem Description | Initiated By Other Philosophy
Generated
Problem 1 Description 1 Philosophy 1  Philosophy 2
Problem 2 Description 2 Philosophy 2  Philosophy 3
Problem 3 Description 3 Philosophy 3  Philosophy 4
Problem 4 Description 4 Philosophy 4  Philosophy 5
Problem 5 Description 5 Philosophy 5  Philosophy 6
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While we use the tables to show how problem caexipanded and multiplied, if we
want to we can also use the problem entity witloicts show that. In this case, we can
use a constant color to show the initial problerilewe can change that color to show
each other problem that is generated based omitied problem. The diagram below
use color to show the multiplication of the initpabblem as well as the expansion of
other problems caused by each other problem. \Wehesred color to show the initial
problem.

Problem 13
Problem 12 -
Problem 7 -

Problem 3
Problem 6 Problem Etc.
Problem 4 Problem 5

Problem Name

Problem
‘ Four

Problem Name

If we want to, we can expand the table to showpthilosophy that generates a problem
and the origin of that philosophy. The table bekend the above table by both
showing the problems and the philosophies thatrgém¢hem and also the origin of
those philosophies.

Problem Name | Problem Description | Generated by Origin of Philosophy
Philosophy

Problem 1 Description 1 Philosophy 1  Person 1

Problem 2 Description 2 Philosophy 2  Person 3

Problem 3 Description 3 Philosophy 3  Person 1

Problem 4 Description 4 Philosophy 4  Person 4

Problem 5 Description 5 Philosophy 5 Person 2

Since problems are multipliable and expandabladutition to the way we show the

problems above, we can also show them in a reclanfygum. In this case, we can show

the initial problem as the input to the rectanglbere all the other problems are
considered to be derived problems as shown byidggain below.
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Problem Name

We have previously shown a group of problems ablpnes, here we provide another
way to show a group of problem as philosophy. Bwg this form of grouping below,
we can show a group of philosophies related tg#rson who adopt them. As shown
below, we can also use names of those philosophieplace them or use them win
index.

If we wan to, we can also use arrow with thosegsduiphies to show where they point to.
In the diagram below, we use arrow with those @afthies to show where they point to.
Both of the diagrams are the same, except in otleeoh we group all those philosophies
into one group. We use arrow with the philosopiegrovide more information on the
underlined system. The arrows can point to angctiion, which depends on the
information.
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Philosophy 2
Philosophy 5
Philosophy 1
Philosophy 4

Philosophy 3 Philosophy 7

Philosophy 6

Group of People Applying Theory

Since life is an associative system, we work asgiwely to enable the functionality of
life. The associativity relationship is also exted to our application or project we work
on. Forinstance in an application or project,ftirection of one person can depend on
function of another person in that project or agadion. In addition to that, if we look at
the overall project or application, we can alsotbe¢ it makes up of functions of the total
people who are in the project or application.

We know that the result of the project or applicatis a function of life. We use the
linear form of system applying theory to show tpelecation of theory by the group of
people who are in the project to result to the fiamcof that project. Since theory is
independent entity, each person in that applicatigoroject must apply theory
independently to execute functions that contriltiéeoverall function of the application.
From what we have just said, we can show thosel@&op circular form. The diagram
below shows a group of people applying theory irdelently to result to the function of
the application. The diagram below assumes tleaptbject is made up of six people and
theory gives those people ideas to execute furetdthe application. Both of the
diagrams are the same. The form below can alssé@ with continuity if space is an
issue to show group of people applying theory.

www.speaklogic.org Copyright © 2011The Speak Logic Project 82




Theory ——»
<4+— Theory

Person 2

Person 1

Theory ——» g
47 Theory

Person 3

Person 6

Theory ——» @
g <4— Theory
Person 4

Person 5

Since in the application the function of one persan depend to the function of another
person, we can use we can use an arc with arrewaw that dependency. In other
words, since in the application, the function capehd on the function execute by
another person, we can use the arcs below to dtetvdépendency.

DD

The diagrams below show the dependency in termsnations; both of them are the
same. If we want to, we can also interpret theasrcommunication. We can also think
it like that, while people in the project commun&#ogether to execute functions of that
project, however they apply theory independently.
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Theory ——»
<4+— Theory

Theory ——» g

g <— Theory

Person 3

Person 6

Theory ——» @
Theory

Person 4

Person 5

Graph Axis
We can use the graph axis below to show the pedoceand the execution of a
function. Previously, we have use the graph agliev for both the downhill and the

uphill process.

function

time

Let’s assume that as age increases, so doe’sitstavg can use the axis above to show
that. In this case, we can use the axis with getigpshow that. We can also use dot or
line to show that. Below, we use the graph axshtow the increase of age related to the

increase of stability. This is simply an assumptio
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Function Termination

age —p»

Function

Usage and Description

The function termination entity can be used to stiwsvtermination of a function. In this
case, we use the function termination entity too#eia function that is no longer
executed. Assume thiainction 1 used to be executed in the applicatiorSpstem 1, if
System 1 is no longer in that application Bunction 1 is no longer a part of that
application, then it is possible for us to showtdrenination ofFunction 1 in the form of
Function1. In other words, by putting a bar below a funetiwe can show the

termination execution of that function.

Available Option
Available options of the function termination entihclude:

* Function termination
» Stop function

* Function under bar
* Function

 Etc.

Grouping Entities

While we use the grouping entity to group entiti#s,can also show a group of entities
in term of quantity next to each other. For exampé can use two or three people next
to each other to show a group of people. We csm e some quantities of the physical
system to show a group of system. The diagranmbghow some example of grouping
the physical system.
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i L System i
System ; 1

System System

In addition to the way we show a group of peoplevahwe can also use continuity to
show a group of people. In this case, we don’ehavshow everybody in the group; see
the diagrams below for the usage of continuityltove group of people.

ey
&

Person 1 Person 2 Person 3 Person 1 Person 2 Person etc.

0D k63

CTO @
oHE
oHE

®

The diagrams above are similar to the ones belowhe diagrams below, we use
continuity to show a group of system. There iglifference between the ones above and
the ones below, except we use different system eatttinuity to represent a group of
people. The way we represent the system belowris wseful especially when modeling
on a drawing board or a piece of paper. While n@sit like that in the form below, we
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can also use comma to separate them. For instaraggan use comma betwesystem 1
andSystem 2.

SystemlSystem2 e o o SystemlSystem2 o o o Systemktc.

In the diagram below, we show another way of groggntities. Rather than using the
grouping entity, we simply we simply use this foofrgrouping to group natural
elements, input elements, and all other entitiasd¢hn be grouped in this form.

Natural Elements Input Elements F F

External Functions

If needed and desired, the following entities carubed to show an external function in
the project or application. An external functisrconsidered to be another function from
an application or a project that is a part of fmatction. An external function can also be
considered an outside function that is a part efdinrent application. The external
function can also be viewed as an outside fundhahis needed for the current
application. We can use any of the entity belowrow an external or outside function.

function external function

Function Container

The functional system, life is made of existing added functions. As we have seen
from the functional system entity, there is an dosaexisting function; there is also an
area for added functions. We also use the worthawer to name the area that contains
the functions. While we can use the grouping gmtitgroup our functions, if desired we
can also use container to group our functions dls Wae diagram below shows a
function container into the left and one to théatighows functions that include in that
container. In this case we can say the contamtre left is empty. Refer to the example
usage section for more information about using tionccontainer.
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Function 1

. Function 2

Function netion
Container Function 3
Function 4

Horizontal View of Theory
A theory can also be shown or viewed in horizofdah. For instance we can use the

horizontal view of a theory for explanation purpesel depend on orientation where we
model our application. The diagrams below showhitrgzontal form of a theory.
Disregard the way we represent a theory, the tine®re that theory can be grouped or
shown in group. The second diagram shows the gfeatheory in horizontal form with
the usage of grouping. Refer to the example seéiomore information about grouping
theorems in theory. It does not matter how maepitdms we have per group. We can
have a number of theorems or an unlimited numbénexfrems.

Theorem 1 Theorem 2 Theorem 3 e o o Theorem etc.

Group 1

Theorem 1 Theorem 2 Theorem 3 e o o Theorem etc.

\ /

Group 2

Equation Entity
The equation entity can be used to show an equatioa computer screen, the equation

entity can be used to show an equation. It mayaatecessary, but if needed the
equation entity can be used on a drawing boardsbeat of paper to show an equation

while modeling a project.

Equation A/ X

Information Table
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We can use information table to provide more infation about our application.

Assume that we are working in a project where weehraultiple people applying theory
to derive multiple functions. Where the main fuoctof the project is the total functions
of those people, we can then use the informatible t@ show that. The diagram below
shows the usage of the information table wherartam function of the application is
made of three functions. Each function is thelteda person applying theory. From
the table, we show the name of the person, systiémndex equivalent, and the resulted
function.

System Person Name Person Function
System 1 Name 1 Sfunction 1
System 2 Name 2 Sfunction 2
System 3 Name 3 function 3

In addition of using the information table, the rddble can also be used to provide
information for a node or specific link. In thestiry domain, a node is considered to be
an important point which is related to the flowtloé principle. We can also say that a
point of the flow of the principle related to thenttion of that principle.

While we use the information table above to provig®e information about some of the
entities we use to model our application. Thensoidimit in term of what type of entities
we can use on the information table. For instameecan use the information table if we
want to with the derivative entity to provide manéormation about the function of that
derivative in our project. Refer to the exampletiem for more information about using
the information table.

While we can use the node table to add a nodeliok,ave can also use a node next to
an entity to provide more information about thaitgn In this case, the node in that table
can refer to that entity to give more informatidooat it in the project. For instance, we
can put a node next to the derivative entity tovige® more information about that entity.
In this case, we use the node table to show thdg aad the information about that
entity.

Rather than using node table to show informatiospetific link, we can also use callout
to show information on that link. For instance, @& put a callout between the theory
entity and the apply theory entity to provide mmfermation on that link. In this case,
we mean the link that connects the theory entity/the apply theory entity.
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Some Entity Usage Examples

In this section, we provide some examples on houstthe entities. In some of the
examples, we will connect some entities togethehtmv how to use them.

Example Number 1

The theory of education is a set of theory; itisba set of theorem. The first diagram
below shows the theory of education as a set airéme, while the second ones shows it
is a set of theory and each theory in that setatesitsome principles. The last diagram to
the right is basically the same as the first omeept it does not have the continuity and it
shows a different view.

Theory Education

Theorem 1

Theorem 2

Theorem 3

Theorem 4
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Theory Education

Theory 1

Principle 1

Principle 2

Theory 2

Principle 1

Principle 2

°

°

Theory Education Theory Education
Tl Theory 1
T2 Theory 2

Theory 3
T3
T4 Theory 4
T5 Theory 5
Theory etc.
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Example Number 2

Below we show the expansion of the functional systerectangular format. Both of the
diagrams are the same. In the first diagram tdettewe show two areas: the existing
functions area and the added functions area. \W@ldo not label them, the second area
can be viewed as existing functions area.

Life

Function 1 L l](‘ e
Function 2 Function 1
Function 3 Function 2

Function 3
Function 1

Function 1
Function 2

Function 2
Function 3

Function 3

Example Number 3

The diagram below shows two domains identificatmme domain to the left and one
domain to the right. We use the information labbeshow more information about the
domains. In the second diagram, we identify th@aias as our parent domain and our
domain. Again, we provide more information by @sthe information label. In the
fourth and the fifth diagrams, we then provide miafermation about the domains. We
show that our parent domain is connected to ouraitothrough the flow of the
principles. The way to look at it, in term of knioyg or the principles, we don’t know
anything about our parent domain, except that weect to our parent through the
principles. We can also say the only connectiorhase with our parent in term of
domain is the principles and the principles floanfrour parent or our from parent
domain to us. In the last two diagrams, we simptgte the domains.
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Domain
one

N

This is a domain

Our parent
domain

This is our parent domain

Parent
domain

This is our parent domain

www.speaklogic.org

Domain
two

\_

This is another domain

Our
domain

\_

This is our domain

Children
domain

\_

This is our domain
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B
TS

Our parent
e [ . —> Our
domain »  Principles ———p| domain

This is our parent domain \_/

This is our domain

—>
Our parent | > | Our

domain > U T > domain

@

This is our parent domain \_/

This is our domain

. Our parent
Domain one domain
Domain two Our domain
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Example Number 4

The diagram below represents the theory entityo\B&e show the usage of the theory
entity. The theory entity is a set of theoremaclttheorem is considered to be an entity.
From what we have just said, we can see that gmyrentity is a set of entities, but
those entities are theorems. In the second diggra@nsimply show the expansion of the
theory entity. The second set of diagram showsthigatheory entity expands to
theorems, which we can also call principles. mtthird set of diagram, we use the
expand label to show how the theory entity expaodseorems.

Theory T
Th
- T Theory
Theorem 1 .
Thy Principle 1
Theorem 2 o
Thy Principle 2
Theorem 3
Thy Principle 3
Theorem 4 e
3 Principle 4
Theorem etc.
Thy Principle 5

Theory T flheoy
o
S
S
NS
3
Theory T Theory
Theorem 1 Th;, Principle 1
Theorem 2 Th, Principle 2
Theorem 3 Th, Principle 3
Theorem 4 Ths Principle 4
Theorem etc. Th, Principle 5
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Example Number 5

In our application, we can show a list of theorenthie theory entity. Among those
theorems in the list, we can select specific thesreo apply to execute specific function
or derive specific method or instrument. We camthe allocate label or select to apply
label to show theorems that we select from spettiBory to use in our application.
Below we use the select to apply label to seleetifis theorem to use in our application.
From the diagram below, we can see thabrem 1 is being selected to apply in our
application.

Theory

Theory
Theorem 1 J Set 1o apply Th, 4 Select to apply
Theorem 2 Th,

Theorem 3 Th,
Theorem 4 Th;
Theorem etc. Th,

Example Number 6

The theorem entity from the theory entity can gige to multiple methods. In other
words, from a theorem, many, many methods can beede We choose how to apply a
theorem to get methods that we need from it. Ththods we get from a theorem
depend on how we apply it. The diagrams below stimattheorem 1 that we have
selected to apply from the diagram above, givestosseveral methods. The way to look
at it, fromtheorem 1 above, we haveethod 1, method 2, etc.

Method 1 Method 2 Method etc.
A A A
Theorem 1 Theorem 1 Theorem 1
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Example Number 7

The diagram below shows the grouping of the theoitity. Since the theory entity is
considered to be a set of theorems and those theaee considered to be entities
themselves, it might be possible for us to grolgotems in a theory. The diagram below
shows the usage of the grouping entity to show graguof theorems in a theory. The
group name does not matter. We can name the gineupame we like. Refer to the
group entity section for more information.

Theory Theory T
Theorem 1 Principle 1 Thl
Theorem 2 Group A Principle 2 Group 1 Th2 Group 6
Theorem 3 Principle 3 Trb
Theorem 4 Principle 4 Th4
Theorem 5 Principle 5 Th5
Theorem 6 Group B Principle 6 Group 2 Ths Group 4
Theorem 7 Principle 7 Th7
Theorem 8 Principle 8 Trb
Group C Theorem 9 Group 3 Principle 9 Group 7 Thg
Theorem 10 Principle 10 ThI.O

Example Number 8

In this example, let's assume that in our projeat, function of one person is to apply
theory to derive a method or instrument. Let'siass that the person applies theory to
derive a method. From that application, the peeguplies theory to derive the method
from natural elements. In other words, the peegmulies theory to derive a method from
some types of natural elements. From what we hestesaid, we can draw the entity
diagram as shown below. The diagram below is ppli@ation. In consists of three
natural elements. Those natural elements aretosidetive the method we are required
to derive. The output functiofunction 1 is the function of the method produced by our
application. We are going to continue this exantplprovide more information about
each entity we use to derive the method. In otfeeds, we are going to provide more
information about each entity we use here. Indihgram below, we use abbreviations
MDF for Method Derivative FunctiomM for Method andvF for Method Function.
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System > Apply

.
MDF MF —— Function 1

NE

Method
Derivative

NE » Group —»

NE >

Example Number 9

This example is a continuity of the above exampethis example, we are going to
provide more information about the applicationtc# theory by the physical system to
derive the underlined method. To better understaiscexample, we have to provide
another entity diagram to show the theorems intipurethat will be applied to derive the
method. We know that a theory is a set of theoramasfrom a theory; we can select
multiple theorems to use to derive an instrumemhethod. To better understand this
example, let’'s expand the theory entity to seestHected theorems that will be applied to
derive the method. From the diagram below, wesesnthatheorem 2 andtheorem 4
have been selected by the physical system to dpeltheory to derive the method. In
other words, the person who works in that applcatwill usetheorem 2 andtheorem 4

to derive the required method.

System > Apply
Theorem 1
Theorem 2 <« v
Theorem 3
MDF MF |[—————® Function I
Theorem 4 «—
Theorem 5 .
NE
NE Group —» DM?thO.d
erivative
NE
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Example Number 10
This is a continuity of the example above. In gxample, we are going to provide a
table to list the entities that we use for the agapion and why we use them for.

Entity Entity Name Entity Description and Function

The physical system is a theory dependabl
system. The physical system can apply
theory to derive a method or instrument. In
The physical systemthis example, we indeed verify the theory
dependable characteristic of the system by
showing that the system can apply theory t
derive a method or instrument.

D

System

O

In order to derive a method or instrument,
some types of input elements are needed. (We
can also say those input elements as simpl
inputs. Those inputs can be in the form of
natural element, natural resources, inputs
elements, parts, energy etc. What is important
NE Natural element | here to note, while the physical system is
theory dependable, however the system
cannot derive anything without some types|of
input. It is very important to understand the
importance of this entity. We mean the
importance of the natural element entity. The
way to look at it, we can not derive or make
anything without some types of inputs or
natural resources/elements.

<

The method derivative entity denotes the
application of theory or theorem related to the
input elements that use to derive the methad.
Now the theorems that will be needed to
derive the methods have been selected, thg
person in question must show the usage of
Method Method Derivative | those theorems related to the selected natyral
Derivative elements. In other words, the derivative
entity shows the usage of the selected
theorems related to the selected natural
elements. We can also say that the derivative
entity shows usage of the natural elements
with the theorems that derive the method.

11%

While we have already provided more
information about the theory entity from the
Theoyy previous example, nevertheless, it is _

worthwhile to provide some more explanatipn
here. The theory entity provides us with th
set of principle that will be used to derive the

1%}
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Theorem 1

Theorem 3

Theorem 5

Theorem 2 <

Theorem 4 <

Theory

method. Since the physical system is theory
dependable, in order for the system to exec¢ute
a function or derive a method, the system
needs theory as input. In other words, in
order for the system to execute or derive a
function, the system needs theory to get ideas
from. Itis very important to understand the
system itself related to theory.

Group

Group

We simply use the grouping entity to group
the natural elements that will be used to
derive the method. While we group the
natural elements in that form, we could have
also grouped them in a form one on top to
each other by using a plus sign. Here, it does
not matter the way we group the elements.

Apply

Apply Theory

The apply theory entity tells us how we apply
the selected theorems to derive the method in
question. In this entity, step by step

instruction can be provided on how the
selected theorems were applied to derive the
method in question. Since communication |is
not limited, there is no limit on how the
application of the theorems in question can| be
described.

MDF

Method Derivative
Function

From the entity diagram, we can see that the
method derivative function has input from
both the apply theory entity and the derivat{ve
entity. Usually, the method derivative
function shows us the derivation of the
method in question related to the applicatign
of theory. In this entity, we provide more
information about the method that will be
produced by the application of theory.

Method

The method entity is simply the method that
is produced by the method derivative function
related to the application of theory. Here, we
can provide more information or descriptior
about the method that we produce.

MF

Method Function

The method function simply tells us the

function of the method that we derive by
applying the theory. Since we apply theory to
derive a method, that method must have a
function. If we have applied theory to deriv|
an instrument, that instrument must have a

[¢)
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function as well.

The output function simply tells us the

a function; we know that function is a

function of life that tells us the function of
what we have derived. While we name it
Function 1 here, we could have named it
Function.

function of the method that we have derive
Function 1 Output Function | Assume that we have applied theory to der

function of life. So the output function is a

Example Number 11

In this example, we are going to make some assomgptiAssume that after applying
theory to derive the method in question, and tkaltave get is not what we expect.
Now we need to make some adjustment to our apgicatn terms of making
adjustments to our application, we have three aea®rk on: the theory entity which
includes the selected theorems that we used ty &pplerive the function, the derivative
entity that we use with natural element to derhemethod, and the apply entity that
tells us how we apply the selected theorems toveeéhe method. By looking at all those
three entities, we can see that the theory erstityt adjustable. In other words, the
theorems that we have selected to produce the ohettannot be adjusted by us. We
cannot adjust theorems from a theory to produadtréésat we expect. We cannot adjust
theorems from a theory to produce what we wante theorems from a theory are not
adjustable.

From the above paragraph, since theorems fromh#wy entity are not adjustable, we
have left with two areas that we can adjust to ji®the result that we might expected.
Since the derivative entity enables us to useelexted theorems related to the input
elements, depend on our result, the input elentbatdeed this entity can be adjusted to
reflect our application. In this case, we keepsélected theorems fix, but we adjust the
derivative entity related to the input elements.

Now, assume that the derivative entity is fine adcannot adjust the theory entity, we
can then move to the apply theory entity. The wgptory entity, is where we apply the
theory to derive the method. In this entity, wewsthow we apply the selected theorems
to derive the method. This entity is very adjubtabklated to ourselves. From what we
know about theory, application of theory and thggital system, we can adjust this
entity accordingly to provide us with the result ngve expected. For instance, any error
we make in the apply entity, would affect the resfilour application. In this case, if we
make an error in the application of the theory,cale then make changes to it to reflect
the desired output function.

Example Number 12

From the previous example, we have learned thah#@ems from a theory are not
adjustable. It is very important to understand.th&e can develop a lot of problems
when we fail to understand that. By having a gooderstanding of the above example
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and also the previous two examples, we can seé¢hhdheorems that we select to derive
the method do not decide the method. In other sydiet application of a theorem is
decided by us, but not by the theorem. We cansagdhat the application of a theorem
is decided by the application itself, but not bg theorem. The application of a theorem
is not decided by the theorem itself, but by us thredapplication.

Here is the way to look at it, we know that a tlegorcan give rise to multiple methods.
In other words, while we select a specific theoterderive a method or instrument,
nevertheless that theorem can be used to deriee otethods and instruments. From
what we have said, we can see that the abilith@theorem to give rise or derive
multiple methods is not from the theorem itselft fsam the person who applies that
theorem. For instance, while a person can athgtyrem A to deriveMethod A, another
person can applheorem A to derivemethod B. If we look at the process, we can see
thattheorem A is not limited to how many methods it can produ@ée can see that the
application oftheorem A depends on what is being used for or the persanapblies it.
It is very important to understand that. Sinceoteens are not application specific, in
many instances we can treat them as generic erdyinstance, we can say that a
theorem is generic to any method or applicatios liteing used for. We can also say
that, the theorems include in thedryook like theoryT without any application. The
theorems that are in theofylook like theoryT without any application.

Example Number 13

From the two previous examples, we have learnddhleaheorems are not adjustable
from a theory. The entities that can be adjustedlee apply entity and the derivative
entity. By having a good understanding of theapplication of theory, and the physical
system, we should have already known that the éme®entities or the theory entity
cannot be adjusted.

Let’s think about the above paragraph and providesmexplanation here. We know that
the physical system is theory dependable. In datahe physical system to execute or
derive a function or an entity, the system mustyagieory to do so. In other words, we
can simply say theory gives us ideas to do whatleveln this case, we can also say that
the theorems selected by the physical system tly &pperive the method, provide ideas
to the physical system to enable the system toelé¢hat method. Now, if we look at the
overall process related to the physical systemilgtalive can see that adjusting the
theorem entities to derive the method would reqthiessystem to adjust his/her ideas as
well. In other words, if it would have been possitor the theorems to be adjusted, the
person who applies the theorems to derive the rdetfumld need to adjust his/her ideas
accordingly. That makes sense, since the seléwdedems provide ideas to that person.
Now, in order to look at the importance of not atijug the theorems, we have to look at
the stability of the system in this case. Thedekktheorems for that application are
considered to be the basis for that applicationthis case, the person in question thinks
relatively to those theorems. Any fluctuation bode theorems would require
fluctuation in that person mind. When we lookletttprocess, we can see instability all
over. For that reason, it is not possible to ddjus selected theorems. It is very
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important to understand that process; from whakmev about theorems and theory as
well, they are not adjustable entities.

By looking at the paragraph above, if the theoramse going to be adjusted, the
possibility of error correction would be very ddtilt. Keep in mind that, every time we
adjust the theorem, we would need to make chamgiee iderivative entity and also the
apply entity. If we look at the overall procesg van see that it is much easier to adjust
the apply entity and the derivative entity relatedhe input elements rather than
adjusting the theory entity. It is very importaotunderstand that. By thinking it that
way—those theorems are adjustable—it can be véfigudt or even impossible to derive
an error free application.

Example Number 14

From example number 12, we have learned that tpkcapion of a theory is not decided
by the theory, but the person who applies thatrthetn other words, the application of
theorems to derive a method is not decided byédlex®ed theorems, but by the
application or the person who select those theardhis very important to understand
that.

From the above paragraph, we can see that a thexanene viewed as a generic entity.
In this case, theorems from a theory are openady@pplication. Those applications
depend on the people who select those theorenpptp. alt is very important to
understand that. To better understand what we &@de to better understand whether or
not theorems in a theory are generic, a betterrstateding of theory communication is
needed. From what we know about the relationshipemry and theory communication,
we know that in a theorem, there exist two pahs:theorem part, and the
communication part. It is very important to undansl the communication part of the
theorem and the theorem itself. Whenever we usevtird generic here, we mean that
the theorem is presented in a generic form. Wighrelationship of theorems and theory
communication, we know that the presentation obty¢akes theory of communication
into consideration as well. In this case, we etbat the generic of a theorem depends
on the theory communication rather than the theatself. In other words, while the
theorem can be generic, however it must be predémt form to be generic. In other
words, the theorem must be presented in a formrenthe application of the theorem is
not decided by the theorem. We can also sayttatheorem does not sense or looks
like its own application. It is very important tmderstand that; that may require a very
good understanding of presentation and interpoetadf theory as well. Since a very
good understanding of communication may be requoqulit a theorem in a generic
form and our communication is very limited rightwynoFor now, we don’t have to worry
about this topic or this example. This examplelbasimply disregarded or most of it
can be disregarded.

Example Number 15

In this example, let’'s expand the previous diagtanmmclude more people in the project
applying theory. In this case, assume the apjdicas made of three people and as usual
each of them has his/her own function. From whahave just said, we can see that the
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overall result of the application will take the @iions of those three people into
consideration.

From the above paragraph, this is what we knowe firkt person applies theory to
derive a method, which is a function of life. Tiaction that is derived by that person
takes 3 natural elements as input. Now, let'srasstinat the functions derived by the
second person will tak&vo input e ements as input while the function derived by the
third person will take only on@put element as input. From what we have just said,
below we show the diagram of the application f& $kcond and the third person.

System 2 ————W Apply

A

Theory 4

MDF M » MF > Function 2

IE —»

Method
Derivative

Group —»

IE —»

Apply

1

Theory A

MDF » M » MF —»Function_?

System 3

A

Method
Derivative

IE —»

Example Number 16

Now given that the function of thee people musttmbined to produce the result of the
overall function of the application, we can combihem together to show that. It is also
good to note that the function of the first pergononsidered to bieinction 1, while the
function of the second person is considered ttubeion 2 and so forth. We can use the
grouping entity to show the grouping of the threections. We can also use function
grouping similarly the way it is shown on the funoil system diagram to show the
grouping of the overall functions. The first diagr below shows the grouping of all the
three functions combined. This is simply a coritynaf the previous example. All that
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we do here combining the functions of the threepfeeto result the function of the
overall application.

Apply

~

MDF Function 1

A

System 1

NE

Method
Derivative

NE Group —¥|

NE

System 2 Apply

4

Theory .
Group ~|——————p Function
Function 2
MDF MF »

E

%

Method
Derivative

Group ——w|

g

.

System 3 Apply

i

A

Theory h
Function 3

MDF MF - g

Method
Derivative

Example Number 17

From the example above, we combine the functich@three people who apply theory
to derive methods that combine to form the resiuthe application. Now by looking at
the overall diagram above, we can see that grougntijes can also be used to reduce
the size of the diagram. From the diagram abdwesired, the natural elements can be
grouped and the input elements can also be graipediuce the size of the diagram if
space is an issue. In addition to that, we carthessystems apply theory to derive
functions to reduce the size of the diagram ale well as, we can also group the people
who apply theory to reduce the size further. Gndlagram below, we use the systems
apply theory with functions combination to redule size of the diagram. Both of the
diagrams below are the same. The first one wiic¢ha same as the one above shows the
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resulting function is a combination of the threadtions that make up the overall
application. The last diagram shows the groupintp® three people who apply theory to
produce the function of the application.

System 1 Apply

!

Theory

function 1

System 2 > Apply function 2 4’ function

A function 3

Theory

System 3 > Apply

Theory

System | ——» Apply 4’ function

Theory

Example Number 18

From the previous example, we see that three pewoele/orking together to derive a
method, where the resulting method constitutesation of each person. From the
diagram above, we show the output function. Wiigeoutput function shows the
function of the method, it is always good as welshow the actual method. By using the
function to method entity, we can show the actuethod that is produced from the
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resulting function. The diagram below is similarithe one above, but it shows the
resulting method after grouping.

System 1 N Aoy
MDF Function 1
Y
Method
Group Derivative
MDF Function 2 Group EM
A
Method
Group Derivative
7'y
MDF ME Function 3 >
Y
Method
Derivative

Example Number 19

We have defined our problem statement relativelyuiooperating principle. From our
operating principle and our problem statement, axeeldefined our basis of operation
relatively. In other words, our basis of operati®mnelated to both our operating principle
and our problem statement. Within this project,aretaking about the current project
we are working on now; our basis is related toetkhecution of the overall function of the
application. In other words, the output functitsown on the diagram above.

While we are working on this project, we were netege of our parent principles. In
other words, while we were working on this projewet, did not know much about our
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utilization theory, we mean the given set of pniabes that enable us to work together to
enable the functionality of life. We did not kn@amything about the physical system and
its constant characteristic as well. In additionhiat, we did not know anything about
theory and characteristic of theory. By undersitagavhat we have just said here, we
can see that we have been putting things togetfteassume that they would work, but
we did not have enough confidence on the procesdaf we were doing. Assume that
many questions were asked to us about the physisem, theory, application of theory,
characteristic of theory, and the functional systes would not be able to answer them,
since we were not aware of the principles that Enad to understand those entities.
Now that we are aware of those entities, now thetwe aware of the existence of the
principles that enable us to understand the funatieystem, what we do, the physical
system, the physical system constant characterisgory, characteristic of theory, and
application of theory, we must define our basiatreély to our understanding of those
entities. In other words, we define our basistietdy to our understanding of our
utilization theory relatively to what we are doing.

Now that we are aware of our utilization theory arelwant to take it into consideration
in what we are doing, we have to work things owbading to our understanding. If we
look at the overall process related to our undedstey, we can see that we cannot jump
to the level that we expected at this time and itat possible. In other words, we expect
at some point of time to be a 100% of our basisabthis time, it is not possible or
practical. We can also say that, our physicalattaristic does not allow us to learn the
principle instantly to be at the level that we estpbut incrementally, we can be at that
level. For that reason, we assume that we ateeimight direction to our basis and
assume that our basis goes to 100, and then weseaa number in the range to define
our current level. Don’t worry about any number et®ose, it does not mean anything
on paper or on a computer screen, practically, seethis number to indicate our current
level toward our basis. In term of number, lete &2 or simply 0.5. In other words,
from O to 100, we are currently at %2 or 0.5. Wsuase that at 100, we are going to be
100% stable. Let’s show our current level reldtedur basis of operation graphically. It
is very important to understand the %2 number rdladel00. The %2 number is our
instant goal, while 100 is our long time goal. farthe chart belowk goes to 100. We
know thatk is our ceiling we cannot go higher than it. We cal it the ceiling of our
application or the ceiling of our project.

i4—-—-——-———--"-"" - —

function

T time

time 1
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Example Number 20

From the above example, we have defikes our basis of operation and it goes to 100.
While our long term goal is to rich number 100 @ie time, but at present time we want
to rich number %. Basically, ¥z is the number weevaorking on to be. Assume that our
output functionfunction is independent to any other function or any otdity, we

would not need to go farther to rich that numbece there will be no other dependency.
Since our functionfunction requires additional entity or functions to enaldeto execute
our own functionfunction, we must take those entities or those functiotts in
consideration in our model and analysis.

As stated above, our output function is not indeleait; it needs other external entities to
work with. We must take those entities into coasidion. In terms of entities, let's
assume that our output function takes 5 additienéties into consideration. In other
words, in other for us to execute that function,nged some external entities that enable
us to do so. Without those entities, our funciiuld not be executed or existed. To
show that, let’s use the table bellow to list theséties, their functions and their
descriptions.

Entity Name Entity Description Entity Function
Entity 1 Description 1 Function 1
Entity 2 Description 2 Function 2
Entity 3 Description 3 Function 3
Entity 4 Description 4 Function 4
Entity 5 Description 5 Function 5

Example Number 21

From the above example, we have learned that dpubfunction is not independent. In
order for us to derive that output function, wedether entities that enable us to do so
and those entities affect the derivation of ourcfion. From the example above, we have
listed those entities and their functions. Itéswimportant to understand that, the list of
functions on the table above is general functidrth@se entities. Those are not the
functions we use the entities for in our application this example, we are going to
provide more information about those entities drertfunctions in our application.

As we already known, in order for us to derive faurction, we need those entities to
work with. We can also say that those entitiescfbur function derivation or function
execution. Here, let’s provide a table for thostties and their functions in our
application. In the table below, we provide adisthose entities, the description of those
entities in our application, and their functionur application.

Entity Name Description in Application | Function in Application
Entity 1 Description 1 Function 1
Entity 2 Description 2 Function 2
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Entity 3 Description 3 Function 3

Entity 4 Description 4 Function 4

Entity 5 Description 5 Function 5

Example Number 22

From the above example, we have learned that #m#ees affect our application. Since
those entities affect our application, they aff@mat basis of operation as well. The fact
that those entities weight in our application, weastrinclude them in our basis as well.
Since those entities affect our application perfamoe, we must weight each of them in
our application. In other words, we must defineeaght for each entity related to the
output of our function. The weight we give thosditees must be related to the weight of
our function, which we have identify in our godh terms of weights, let’s provide a
table of those entities and their weights in thgliaption in terms of output functions.

Entity Name Function in Application Weight on Output
Entity 1 Function 1 Weight 1
Entity 2 Function 2 Weight 2
Entity 3 Function 3 Weight 3
Entity 4 Function 4 Weight 4
entity 5 function 5 Weight 5

The table above provides the weights of thoseiestih our application. It is always
better to define those weights in term of numbkateel to the basis of the application.
We use the word weight here as a number that afieatesult of the application. For
instance, assume that an entity can affect thétrefsthe application for about 5%, and
then we say this entity weight 5% in the applicatidhe table below defines some
constant weight of the entities related to the igptibn.

Entity Name Function in Application Weight on Application
Entity 1 Function 1 5%
Entity 2 Function 2 2%
Entity 3 Function 3 3%
Entity 4 Function 4 7%
Entity 5 Function 5 3%

From the above table, if we look at the total weigfthe entities in the application, we
can see that they combine to a weight of 20%.therowvords, those entities weight 20%
on the application. The 20% number is how thetiestcan affect the application.

Example Number 23

Now that we know the entities weight on the appicraand they can affect the
application up to 20%, we must include that weightur basis related to our function.
Our instant goal is %2, while our long time goal@)%. The 20% number will affect our
instant goal and we must take that into considemads well. In term of our long time
goal, those entities will be taken into considemats well every time the function is
executed. Now, let’s include the 20% effect of weaght in our instant goal. Whenever
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we use the term instant goal, it means that oueatitevel of operation related to our
basis. By taking the 20% number into consideratias can represent our function
related to the basis as shown on the graph below.

i4—-—-——-———--"-"" - —

Sfunction

T time

time 1

Example Number 24

Now that we execute our new function and we haverg good understanding of our
basis, our principle of operation, and our appia@atwe can then now show our function
related to our level of understanding. In otherdgoit is worthwhile now to show our
function related to our level of understandingha theory scale. Using the diagram
below, we show our level of understanding of thesgpplication related to our function.
We can use any number to show our understandindnaf we are doing related to our
function execution. We already knew that the thiesmale does not have any limit, so we
can use any number and they don’t mean much o pagemputer screen. Below we
simply use a number of 5, but any number we wishdcbave been use. Keep in mind
that, this number is related to how well we undardtour principle of operation related
to our basis.

function

-5 -4 -3 -2 -1 1 2 3 4 5

Example Number 25

While we have usedlheory T as our theory to derive the method, depend onwkew
looked at the theoremB)strumentation Theory could have been used instead. The way
to look at it; while we have usé@theory T as our baseline to get the theorems to derive
the method, depend how we looked the theoremspwiel bave usethstrumentation
Theory instead. In this case we could have simply uBed nstrumentation Theory to do
the same thing. As we become familiar with theargeneral and understand our
utilization theory, we will see it is possible fas to do everything within the given set.
Let's say it again; as we become familiar with mstrumentation theory for instance, we
will discover that it is possible for us to derimeethods from it by using it. The way to
look at it, while we use the word theory in gengogbrovide explanation, as we get
familiar ourselves with theory and identificatiohtbbeory, we would not have any
problem to refer to a theory by its specific nanethis case, we would not have any
problem as well to identify theorems and determwvhéh theories they belong to.
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From what we have just said above, by using ourungentation theory to derive the
methods, the diagrams would have been changee toltbwing. In this case, we
assume that the people in the project allocateréime® from the theory of instrumentation
to derive the functions. The table below showsallerated theorems and the function
for each person. The diagrams below show the of@ipation of each person resulted
from the allocated theorems in instrumentation theo

Allocated Theoremsin System Applying Output Function
I nstrumentation Theory

Theorem 1, Theorem 2 System 1 Function 1

Theorem 2, Theorem 3, Theorem 5 System 2 Function 2

Theorem 2, Theorem 4 System 3 Function 3

System 1 » Apply

A

Theorem 1 Y

Theorem 2 MDF M MF —— Function1

Instrumentation
Theory

NE —»

Method
Derivative

NE ——» Grouwp

NE —»

System 2 > Apply

T

Theorem 2

Theorem 3

Theorem 5 MDF » M » MF ———»Function?

Instrumentation y
Theory

IE —»

Method
Derivative

Group —P|

IE —
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System 3 > Apply
Theorem 2
Theorem 4
Instr_LIJ_rT:Onrtyation MDE M MF ———» Function 3
A
IE > Method
Derivative
Example 26

Since our function execution is related to our ustdending, we can look at our
understanding related to our basis and functioutian, which is related to our
stability. In this example, we are going to lodktee stability of people who work in the
project related to functions execution in connettim our basis.

Let’s repeat what we have said above again. Sincéunction executes related to our
understanding of what we do, which is connectealtobasis of operation, we can look
at our understanding in term of stability.

To start, let assume that we have 6 people wortkirggproject. While we show three of
the people applied theory to derive a method, thergpeople apply theory to perform
other function in the organization, but their fuoos are also connected to our functions,
but we did not show a lot of information about thBtow, we want to show the stability
level of those people related to what we are doingother words, we need to show the
level of understanding of those people relatediatwe are doing. We can show that in
a graphical form as shown below. From the diagoatow, we use we use lettemwith
number to denote people.

2

Employees

~l-@
SO @
e
S @
]| -
=@
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While we did not put a number for each employeéwmrican see that the stabilities are
not equally distributed. The way to look at ity dunction execution is related to that
stability level. To better understand the ovestdbility level, it is always good to look at
the average stability for the overall employee aflinakes sense, since the overall project
depends on all employees and each of them cordributhe project, the success of the
project depends on each employee individuallythis case, it is always good to look at
the average stability for the overall employeesasn by the graph below. From the
diagram below, we use the wdpdrson with number to represent employees. We can
also uséemployee with number as well to represent the employeesigrogher name or
actual names.

k4H—-—-————"———"—" " " - -+ — —« —« — — — — — —.

e * o % o

Person 1 Person 2 Person 3 Person 4 Person 5 Person 6

Employees

Now, let’'s use a table to represent the name df eagployee related to the symbols or
abbreviations or names that we use to show thetheograph. It does not matter the
way we show them on the graph in terms of name.cWd have used person name, we
could have also udefor person as well as we have done previouslye table below
shows the function for each employee and the etgrivaames for the employees. We
could have also shown the stability in a tabulamiat.

Employee Name Employee Function Name Equivalent
Employee 1 Function 1 Person 1
Employee 2 Function 2 Person 2
Employee 3 Function 3 Person 3
Employee 4 Function 4 Person 4
Employee 5 Function 5 Person 5
Employee 6 Function 6 Person 6

As we ca see from the graph above, the averagiitstadhsome fraction ok as shown

by the graph below. The average stability is vemyortant to us as well as individual
stability. We can use the individual stabilityatsdd to our function execution to look at
specific area of our interest. We can also usateeage stability to look at the
performance of our function. Keep in mind that skebility does not represent much on
paper. It is always good to think that the st&p#intity is not a paper entity.

www.speaklogic.org Copyright © 2011The Speak Logic Project114




The average stability is some fraction of k

.
®* ? * % ® ? e

Person 1 Person 2 Person 3 Person 4 Person 5 Person 6

Example 27

From the previous example, we have shown the agestapility of the employees who
work in the project or the organization. Sincelvese defined our problem statement
relatively to our basis and our principle of opematit makes sense for us now to look at
the direction of our project. Our project directis also a part of our stability. In along
term, our project direction enables us to lookwatfature function execution. As shown
from some of the previous example, we execute ungtfon at a specific time. By
having a direction for our project, we can loolkaatl approximate our application
execution in a future time.

It is very important to understand our project dilen. As a theory dependable system,
it is very important for us to have a directionnc@ we apply theory to execute functions
of life, it is very important for our function tcakie a direction. Our project is considered
to be our function. In other words, it is very ionfant to have a direction for our project,
since it enables us to continue execute our funeetated to our basis and our principle
of operation.

It is very important to understand that all thebdity entities we have looked and defined
are not paper entities or computer screen appeasarno other words, those entities do
not represent anything on paper or o0 a computeescrlt is very important to
understand that. Now assume that the people whk wahe project and the
organization have a good understanding of whaethes doing related to the principle of
operation, the basis of operation, the functiorcaken, and the problem statement.
Now at time equalime O, the function executes minimally. At time equiifee 1 as
shown from the previous example, the function etecmuch better. It does not matter
the way we start or look at it; we can start whatdime we wish. Here, we use the time
we first execute the function and successive tiB understanding what we have just
said, we can define our direction to point up.other words, we have defined our
direction which is related to our function execatfoom our basis, operating principle,
problem statement, and our understanding of theciple that we apply to execute our
function. In this case, we can show the directibaur project, which basically the
direction of our function by the diagram below.

On the diagram below, we show our project direcfromtimeO totime 1. Since we are
looking at stability of our project in term of dat®on, it makes sense for us to use
distance mark in our direction. As shown on tregdam below, we use maalto show

www.speaklogic.org Copyright © 2011The Speak Logic Project115




the first time we execute the function dntb show the second time we execute the
function. As we can see from the diagram, we laavery good understanding of what
we are doing on the first time we execute the fiomct On the second time, we did better
relatively to the first time.

As shown on the diagram below relatively to thegthan above, the first time we execute
the function, we have a very good direction of project. We are doing better in term of
our understanding of what we are doing and we naetto do better. Since we have a
very good understanding of what we are doing, weeeito do better the next time we
execute our function. Markrepresents an approximation of the third timeftimetion

will be executed. Since our function will be exeszlrelatively to our understanding, we
expect to do better next time. In this case, weaggroximate our performance later.

Example 28
A direction cannot exist without a destination.ohder to have a direction, we must have
a destination. While we have defined our projectation from the exercise above, it
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makes sense for us to define our project destima@sowell. Our project destination
defines where our project is going, while our pcogirection defines the road we take to
get to our project destination. It is very impaitéo understand the similarity between
project direction and project destination.

As a theory dependable system, it is very importantis to have a direction. As a
theory dependable system as well, it is very imgodrfor us to have a destination. The
destination of our project is related to our problgtatement, our operating principle, our
basis, and the understanding of principles thaapmy to execute our function, which is
our project. To better understand the similargyween our project direction and our
project destination, it is better to take it thatyw Our project destination defines the
execution of our function as it should be, while ptoject direction defines what we do
in a timely basis in order to execute our functidet’s repeat it again, assume that we
are working on a project to execute a functiont thaction executes as it should be is
considered to be our destination, while what wgalually to get that function
executed is considered to be our function destinatin term of our understanding, it is
very important to take it this way. Our projecstieation is considered to be our goal,
while our project direction is considered to be wha do to achieve our goal. Our
project destination is considered to be our lommtgoal, while our project direction is
considered to be what we should do continuallyctoeve our goal. In terms of our
understanding theory and application of theory,moject destination is considered to be
our long term learning objective, while our projdatection is considered to be our
increment learning to get to our learning goalthiis case, learning goal means at a time
when our function executes as it should be, welveille a good understanding of the
principle that enables us to execute that functibiis always better to take it like that, at
a time when we have good understanding of the iptaathat enables our function to
execute as it should be. The good understandiegdble the function to execute as it
should be is considered to be our destination.

As we have learned above, our project destinasiatefined by our problem statement,
our basis, our operating principle, and our und@ding of theory that we apply to
execute our function. In this case, we can useléiséination entity to represent our
project destination as shown below. Since ourgatgjestination is a part of our
stability, and our stability is not a paper or ggibal entity, it is always good to think
that those entities are not defined or on papeoorputer screen. In addition to what we
have just said, we can see that the directionyeistihe continuous understanding of the
principle that allows us to derive and executefaaction. The direction entity enables
us to continue understand the principle that wdyaigpdo what we do. By continue
understanding the theorems that we apply to do wkalo, we can say that the direction
entity provides us the direction to do what we itlprovides us the direction to our
application.
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Example 29

As we have said previously, in order to have adtima, we must have a destination. In
order to have a destination, we must have a daeets well. For that reason, it is always
good to show our direction and our destination tiogee Our project destination and
direction are defined relatively to our understagdiour operation principle, our problem
statement, and our basis. Since everybody who wotkee project contribute to the
project, it is always good to show those peopl¢hendirection and the destination of the
project. The diagram below shows our project dioecand destination related to
everybody who works in the project. As we canfse the diagram, we are moving up
to our destination and we are in the right directid®Ve use the continuity mark after
three people to include more people in the projétthis case, the continuity mark
means everybody who works in the project is inriglet direction to get the project
executed as it should be.
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Another way to better understanding the simildogyween the direction entity and the
destination entity is that, the direction entityrge us to the destination entity. For
instance, at the time we start our project or eteeour function, we cannot get to our
destination, but as we continue to execute thetimmcone day we expect to be at our
destination. So the destination is where we waubiet and our direction is what we do to
get us to our destination.

Our understanding enables us to look at our agitén a long term basis. In a long
term basis, we look at the normal execution ofapplication. In other words, in a long
term basis, we look at our function execution moamal approach. Our destination
allows us to point to normal execution of our fuoet In order to have a destination, we
must have a long term understanding of what weWdhout a long term understanding
of what we do, there is no destination. Anothey ¥easay it, without a long term
understanding of our application, our applicati@s ho destination. The usage of the
destination entity enables us to look at our apyilby in a long term approach.

While in a project we define our direction and destination by identifying them, it is
very important to understand the process. Prdlstica real life, those entities cannot be
identified by someone for someone. Those entitiessiewed as personal entities or
personally identified entities. Itis very impantdao understand that and not to take that
for granted. While we defined those entities in piwoject, but we should also keep in
mind they are personal entities. In addition @t tlve should also not think differently
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compare to real life or outside, when viewing thesgties. It is very important to
understand that. The way to look at it is thatlevine may define and identify those
entities in our project or in our organization hyderstanding the principle; nevertheless,
outside our organization or in real life, the sgmaciples applied, but to a higher level.
It is very important to understand that and nantsinterpret it.

Example 30

The functions that we derive and execute are deiveexecuted according to our level

of understanding. Those functions cannot be ereooit derived above our level of
understanding. That makes sense, since the tligatryhose functions depend on gives
us ideas to derive and execute those functionsethmctions cannot executed or derived
higher than those ideas.

To better understand what we have said from thgeaparagraph, it is always good to
explain it related to the theory scale. Let's assuhat our level of understanding is 5,
we cannot expect to derive and execute a functi@nlével of 10. It is not possible and
practical. Assume that our level of understandsnginus 10, we cannot derive or
execute a function to a level of 10; it is not pokesand practical. We can only derive
and execute functions according to our level ofausthnding. It is not possible for us to
go above our level of understanding. It is verpamant to understand that. The
functions that we derived and executed from theipus examples are derived and
executed according to our level of understanding.
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Conclusion

Usually we model our application while we are watdkon our project. The way to look
at it, while the customers tell us they will progids with additional time to tell them how
we have completed the project, it assumes thatidveat model our application while we
were working on it. In this case, we can go bauk model what we have done. Itis
always better to model the application while wogkan it than after. For instance, if we
were going to do something, we document what wejaireg to do or what we are doing
while doing it. While we can always analyze anddelmur application after execution,
it is always better to model it before and durimga@ition.

Since we model our application to make sure welaneg everything accordingly,

during our application process, we can documentyéviag that we do. For instance, if
we apply a principle, we note it by putting it doand describe how we use it. During
our application process, each instruction we appéy/put it down and describe how we
apply it. It is very important to understand thabdcess, especially when it comes to error
and correction. By documenting and modeling oynliagtion, it is much easier for us to
identify and correct error during the process nathan after execution.

www.speaklogic.org Copyright © 2011The Speak Logic Project121




Some Entity Characteristics Charts

Characteristic of Theory

Application

Interpretation

Relation with System

Importance

Comparison

Expandability

Relation with Theory Communication

Limitation

Presentation
Portability
Independency

Characteristic of Information

Presentation

. Importance

Relation with System
L Quality

[ Quantity

| Application

Defintion
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The Physical System Constant Characteristics

|

i v
Self Communication Theocriy Associativity Reproductivity
Controllable Enabled Dependency

Problem Development

Related to Theory| Disregard Application of Theory

L Disregard Theory and System Relationship

| Disregard Importance of Theory

L Error in Presentation of Theory

| Disregard Relationship with Theory of Communication
L Error in Interpretation of Theory

| Disregard Independency of Theory

| Disregarding Portability of Theory

L Expandability of Philosophy

Related to Instrument| Misapplication of Instrument
| Utilization of Bad Instrument
| Disregarding Instrument and System Relationship

Related to System | Disregard System and System Relationship
| Disregard Function and System Relationship

Related to Method | Misapplication of Method
| Application of Bad Method
| Disregard Method and System Relationship
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Problem Solution

Related to Theory | Regard Application of Theory

L Regard Theory and System Relationship

L Regard Importance of Theory

| Regard Presentation of Theory

| Regard Relationship with Theory Communication
| Regard Interpretation of Theory

[ Regard Independencity of Theory

L Regard Portability of Theory

| Regard Expandability of Theory

Related to Instrument | Regard Application of Instrument
[ Regard Utilization of Good Instrument
| Regard Instrument and System Relationship

Related to System | Regard System and System Relationship
L Regard Function and System Relationship

Related to Method | Regard Application of Method
| Regard Application of Good Method
L Regard Method and System Relationship
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Problem In Sentence

Related to Theory | Disregard Application of Theory

L Disregard Theory and System Relationship

L Disregard Importance of Theory

L Error in Presentation of Theory

L Disregard Relationship with Theory of Communication
Error in Interpretation of Theory

L Disregard Independencity of Theory

L Disregarding Portability of Theory

| Expandability of Philosophy

[ Misapplication of Instrument
L Utilization of Bad Instrument
| Disregarding Instrument and System Relationship

Related to System | Disregard System and System Relationship
| Disregard Function and System Relationship

Related to Method| Misapplication of Method
L Application of Bad Method
L Disregard Method and System Relationship
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Possible Correction

Related to Theory | Application of Theory

_Theory and System Relationship

| Importance of Theory

| Presentation of Theory

| Relationship with Theory of Communication
|__Interpretation of Theory

| Independencity of Theory

| Portability of Theory

| Expandability of Theory

Related to Instrument | Application of Instrument
| Utilization of Good Instrument

| Instrument and System Relationship

Related to System [  System and System Relationship

| Function and System Relationship

Related to Method [  Application of Method
| Application of Good Method
| Method and System Relationship
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Sentence Analysis

Problem

Information

Power

| Definition

Identification

| Presentation
| Importance
| Quality

[ Quantity

| Application
| Definition

| Portabilty

| Relation with System

| Power

Problem Development Chart

Problem

v

Misinterpretation o theory

d of Method

d of Instrument

v

In a System

By a System Against/to a System

ol I

By a System In a System Against'to a System By a System

Problem Solution Chart

Solution

Ina System Against/to a System

Interpretation of Theory

Application of Method

Application of Instrument

In a System By a System
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To a System

Voo

By a System In a System To a System

By a System

In a System To a System
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Characteristic of a Given Reference

— Must be applicable

—— Must have a relationship with our system
—— Must have a relationship with communication
——— Must be incomparable

—— Must be independent

——— Must be interpretable

— Must be important

— Must be expandable

[~ Must be presentable

| Must be portable

—— Must not be limited

—— Must have a fundamental
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Exercises

For some of us who may have questions about theimgamessages, the following
exercises can be used to verify our understanditigegorinciples. By having a good
understanding of the principles, there should bpmoblem or ambiguity to verity the
warning messages. Also, people who have a gooerstachding of the principles and
who have worked out various exercise from the begmto the end of the book, should
have no problem with the error messages. The stat&ting of those error messages can
be used as a verification to determine whetheobthe principles is understood. For
some of us who have some difficulty to understdras$é error messages, turn them off
and start working some exercises from the begintarige end of the fundamental of
communication book.

Since any entity can be used according to any ahesexercises are not in order in
terms of weights. We can do whatever we think waeustand and leave the rest later.
As we make progress learning and understandingrtheiples, then we can move to do
the ones that we have left out.
1. Verity that a theory cannot be deleted
2. Show that a theory cannot be copied
3. Show that a theorem cannot be deleted
4. Show that the given documentation of a system dammedited. This is the same
as saying; verify that the functional principleso$ystem cannot be edited. So if
you want to, you can work it out like that. Shdwattthe functional principle of a
system cannot be edited.

5. Show that a given system theory cannot be editexi don’t have to work this
one out, depend how you have worked out the oneeabo

6. Show that a theory cannot be edited

7. Show that a theorem cannot be edited or deleted

8. Show that a domain cannot be deleted and copied

9. Verify that a domain cannot be rotated or flipped

10. Verify that the given set cannot be deleted or edpi

11. Verify that the physical system cannot be deleteti@pied

12.Show that a philosophy cannot deleted
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13. Verify that a function cannot be deleted or erasitel being added to life
14.Show that the fundamental of our utilization theoaynot be deleted or copied
15. Verify that a given destination cannot be deleted

16. Show that a given destination cannot be copied

17.Verify that a given direction cannot be deleted

18.show that a given direction cannot be copied

19. Verify that a reference cannot be edited. If yanwo, you can provide a
practical example.

20. Show that a theory cannot be composed

21.Show that a theory cannot be decomposed

22.Verify that a theorem cannot be composed

23.Verify that a theorem cannot be decomposed

24.Show that an instrument cannot be deleted or copied

25.Show that a theory cannot be rotated

26. Verify that a theorem cannot be rotated

27.Provide some explanation of your understand ofunsént and rotation. From
your understanding, you might need to look at rotaetrom your understanding
of instrument determine whether or not an instrunsan be rotated.

28.Show that an instrument cannot be composed. $nctse, you might need to
look at the process of deriving instrument andfygrour understanding

accordingly.

29.1f you want to, you can use the above exerciselzsaline to determine that a
method cannot be composed.

30.Depend how you do the two exercises above, if yaotwo you may need to do
this one by showing your understanding of instrunaed method related to the
derivative entity and show whether or not instruteemm methods can be
composed or decomposed.

31. Show that the function of an instrument cannot életéd or copied.
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32.Verify that a function container cannot be deletedopied

33. Show that the functional system cannot be deletedpied

34. Show that the functional system cannot be compasddiecomposed

35. Verify that the downhill process cannot be deleiedopied

36. Show that the uphill process cannot be deletedpied

37.Determine that the uphill process and the dowmindcess cannot be rotated

38. Verify that the theory scale or the theory applarascale cannot be deleted or
copied

39. Show that the theory scale or the theory applicagitale cannot be composed or
decomposed

40. Show that the basis of a function execution cabeadeleted or copied. This can
be viewed as the same as saying show that the dfasis function execution or
the basis of our operation cannot be deleted aedop

41.Verify that the basis of a function execution cano® composed or decomposed.

42.By understanding expandability of theory, it carshewn that the expansion of a
theory cannot be deleted. Verify that statemengther words, verify that the
expansion of a theory cannot be deleted.

43.Show that the downhill time cannot be deleted qied

44.Verify that the downhill time cannot be composed decomposed

45. Show that the uphill time cannot be deleted or edpi

46. Show that the distance mark cannot be deletedmedo

47.From the exercise above, you can also show thatande cannot be deleted or
copied. Also show that the distance cannot be csexb or decomposed as well.

48. Show that a gain cannot be copied or deleted
49. Verify that a lost cannot be copied or deleted

50. Show that a gain cannot be composed and decompose
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51. Verify that a lost cannot be composed and decontpose

52.Verify that a natural element cannot be copiededeted

53. Show that a natural element cannot be composedesamposed

54.Determine whether or not it is possible to grouppge with theory and why.
This is the same as saying that, verify whetheratiit is possible to group the

physical system with the theory entity and why.

55. Determine whether or not it is possible to groygeeson with a theorem and why.

www.speaklogic.org Copyright © 2011The Speak Logic Project132




